

Le Sueur County, MN

Tuesday, January 19, 2016
Board Meeting

Item 7

10:50 a.m. Scott Gerr, MIS (10 min)

RE: Veeam Support Options

RE: Email Encryption Maintenance Renewal Quote

RE: Computer Replacement Quote

Staff Contact:



Quotation #: 10829843 Created On: Jan-05-2016 Valid Until: Feb-29-2016

County of Le Sueur MN

Inside Account Executive

Scott Gerr

Phone: (507) 357-8286

Fax:

Email: sgerr@co.le-sueur.mn.us

Bill Scioscia

33 Knightsbridge Road Piscataway, NJ, 08854 Phone: 732-564-8554 Fax: 732-564-8224

Email: Bill_Scioscia@shi.com

All Prices are in US Dollar (USD)

	Product	Qty	Your Price	Total
1	Veeam Premium Support - Technical support (renewal) - phone consulting - 1 month - 24x7 - for Veeam Backup Essentials Enterprise Edition for VMware - 2 CPU sockets - includes 24/7 uplift Veeam Software - Part#: V-ESSENT-VS-P0PMR-00	2	\$35.80	\$71.60
2	Veeam Premium Support - Technical support (renewal) - phone consulting - 1 year - 24x7 - for Veeam Backup Essentials Enterprise Edition for VMware - 2 CPU sockets - includes 24/7 uplift Veeam Software - Part#: V-ESSENT-VS-P0PAR-00	3	\$433.50	\$1,300.50
			Subtotal Total	\$1,372.10 \$1,372.10

Additional Comments

If you are using SHI's contract##48196 release C1046(5), please include this contract number on your PO

The Products offered under this proposal are subject to the SHI Return Policy posted at www.shi.com/returnpolicy, unless there is an existing agreement between SHI and the Customer.



Quotation #: 10829901 Created On: Jan-05-2016 Valid Until: Feb-29-2016

County of Le Sueur MN

Inside Account Executive

Scott Gerr

Phone: (507) 357-8286

Fax:

Email: sgerr@co.le-sueur.mn.us

Bill Scioscia

33 Knightsbridge Road Piscataway, NJ, 08854 Phone: 732-564-8554 Fax: 732-564-8224

Email: Bill_Scioscia@shi.com

All Prices are in US Dollar (USD)

	Product	Qty	Your Price	Total
1	Veeam Premium Support - Technical support (renewal) - phone consulting - 1 month - 24x7 - for Veeam Backup Essentials Enterprise Edition for VMware - 2 CPU sockets - includes 24/7 uplift Veeam Software - Part#: V-ESSENT-VS-P0PMR-00	2	\$35.80	\$71.60
2	Veeam Standard Support - Technical support (renewal) - phone consulting - 1 year - 12x5 - for Veeam Backup Essentials Enterprise Bundle for VMware - 2 sockets Veeam Software - Part#: V-ESSENT-VS-P01AR-00	3	\$345.00	\$1,035.00
3	Veeam Premium Support - Technical support - phone consulting - 1 year - 24x7 - for Veeam Backup Essentials Enterprise Edition for VMware - 2 CPU sockets - prepaid - includes first year 24/7 uplift Veeam Software - Part#: V-ESSENT-VS-P01PP-00	3	\$457.00	\$1,371.00
			Subtotal	\$2,477.60
			Total	\$2,477.60

Additional Comments

If you are using SHI's contract##48196 release C1046(5), please include this contract number on your PO

The Products offered under this proposal are subject to the SHI Return Policy posted at www.shi.com/returnpolicy, unless there is an existing agreement between SHI and the Customer.



Quotation #: 10829935 Created On: Jan-05-2016 Valid Until: Feb-29-2016

County of Le Sueur MN

Inside Account Executive

Scott Gerr

Phone: (507) 357-8286

Fax:

Email: sgerr@co.le-sueur.mn.us

Bill Scioscia

33 Knightsbridge Road Piscataway, NJ, 08854 Phone: 732-564-8554 Fax: 732-564-8224

Email: Bill_Scioscia@shi.com

All Prices are in US Dollar (USD)

	Product	Qty	Your Price	Total
1	Veeam Premium Support - Technical support (renewal) - phone consulting - 1 month - 24x7 - for Veeam Backup Essentials Enterprise Edition for VMware - 2 CPU sockets - includes 24/7 uplift Veeam Software - Part#: V-ESSENT-VS-P0PMR-00	2	\$35.80	\$71.60
2	Veeam Standard Support - Technical support (renewal) - phone consulting - 1 year - 12x5 - for Veeam Backup Essentials Enterprise Bundle for VMware - 2 sockets Veeam Software - Part#: V-ESSENT-VS-P01AR-00	3	\$345.00	\$1,035.00
3	Veeam Premium Support - Technical support - phone consulting - 2 years - 24x7 - for Veeam Backup Essentials Enterprise Edition for VMware - 2 CPU sockets - prepaid - includes first year 24/7 uplift Veeam Software - Part#: V-ESSENT-VS-P02PP-00	3	\$800.00	\$2,400.00
			Subtotal Total	\$3,506.60 \$3,506.60

Additional Comments

If you are using SHI's contract##48196 release C1046(5), please include this contract number on your PO

The Products offered under this proposal are subject to the SHI Return Policy posted at www.shi.com/returnpolicy, unless there is an existing agreement between SHI and the Customer.



Quotation #: 10845408 Created On: Jan-07-2016 Valid Until: Jan-31-2016

County of Le Sueur MN

Inside Account Executive

Scott Gerr

Phone: (507) 357-8286

Fax:

33 Knightsbridge Road Piscataway, NJ, 08854 Phone: 732-564-8554 Fax: 732-564-8224

Email: sgerr@co.le-sueur.mn.us

Bill Scioscia

Email: Bill_Scioscia@shi.com

All Prices are in US Dollar (USD)

	Product	Qty	Your Price	Total
1	FortiMail 400B 1 Yr 8x5 Bundle Renewal FORTINET - UCC - Part#: FC-10-00412-954-02-12 Note: Coterm Through March 28th 2017	1	\$1,371.00	\$1,371.00
			Subtotal Shipping Total	\$1,371.00 \$0.00 \$1,371.00

Additional Comments

If you are using SHI's contract##48196 release C1046(5), please include this contract number on your PO

The Products offered under this proposal are subject to the SHI Return Policy posted at www.shi.com/returnpolicy, unless there is an existing agreement between SHI and the Customer.



ITsavvy LLC 313 South Rohlwing Road Addison, IL 60101 www.ITsavvy.com

Quote Details				
Quote #:	2802234			
Date:	01/12/2016			
Payment Method:	Net 30 Days			
Client PO#:				
Chimmin at Moth and	Ground			

Bill To: Le Sueur County Accounts Payable 88 S Park Ave Le Center, MN 56057 507-357-8286 Ship To: Le Sueur County Jeff Neisen 88 S Park Ave Le Center, MN 56057-1658 United States 507-357-8286 Client Contact: Jay Hanna (P) 507-357-8579 jhanna@co.le-sueur.mn.us Client Executive: Jason Hawkins (P) 630.396.6318 (F) 630.396.6322 jhawkins@ITsavvy.com

Description: Desktops

Item Description	Part #	Tax	Qty	Unit Price	Total
1 HP ProDesk 600 G1 SFF - 1 x Core i5 4590 / 3.3 GHz - RAM 4 GB - HDD 500 GB - DVD SuperMulti - HD Graphics 4600 - GigE - Windows 7 Pro 64-bit / Windows 8.1 Pro downgrade - pre- installed: Windows 7 - vPro - Monitor : none - Smart Buy Manufacturer Part #: G5R58UT#ABA	16040889	Y	62	\$609.40	\$37,782.80
2 Acer Veriton X4630G_E2 SFF - 1 x Core i5 4590 / 3.3 GHz - RAM 4 GB - HDD 500 GB - DVD SuperMulti - HD Graphics 4600 - GigE - Windows 7 Pro 64-bit / Windows 8.1 Pro 64-bit downgrade - Monitor : none Manufacturer Part #: DT.VLAAA.005	16233810	Y	62	\$599.05	\$37,141.10
3 Crucial DDR3 - 4 GB - DIMM 240-pin - 1600 MHz / PC3-12800 - CL11 - 1.5 V - unbuffered - non-ECC Manufacturer Part #: CT51264BA160BJ	14452986	Y	62	\$18.00	\$1,116.00

Subtotal: \$76,039.90
Shipping: \$0.00
Tax: Exempt

TOTAL: \$76,039.90

ITsavvy is always looking to deliver the lowest cost possible to our clients. This results in fluctuating prices that you will find are lower more often than not. However, prices are subject to increases without notice in the event of a manufacturer or distributor price increase. Available inventory is subject to change without notice. This document is a quotation only and is not an order or offer to sell.

We do accept credit cards for payment. However, if the credit card is provided after the order has been invoiced there will be a charge of 3% of the total purchase.

Unless specifically listed above, these prices do NOT include applicable taxes, insurance, shipping, delivery, setup fees, or any cables or cabling services or material.

All non-reoccurring services are 50% due upon signing of contract, 40% due upon delivery of equipment, balance due upon install.

ITsavvy's General Terms and Conditions of Sale, which can be found at www.ITsavvy.com/termsandconditions, shall apply to and are incorporated into all agreements with Client, including all Orders.

Printed Name: Title	e:
Authorized Signature: Dat	e: